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status filter failed

body 1_0_body_0_narrow.png

Reference Test Diff Report

failed
{

  "isSameDimensions": 

false,

  

"dimensionDifference": 

{

    "width": 0,

    "height": 3

  },

  

"misMatchPercentage": 

"4.96",

  "analysisTime": 193

}
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Reference Test Diff Report

failed
{

  "isSameDimensions": 

true,

  

"dimensionDifference": 

{

    "width": 0,

    "height": 0

  },

  



"misMatchPercentage": 

"2.72",

  "analysisTime": 102

}
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Reference Test Diff Report

failed
{

  "isSameDimensions": 

false,

  

"dimensionDifference": 

{

    "width": 0,

    "height": 28

  },

  

"misMatchPercentage": 

"15.97",

  "analysisTime": 955

}
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Reference Test Diff Report

failed
{

  "isSameDimensions": 

false,

  

"dimensionDifference": 

{

    "width": 0,

    "height": -46

  },

  

"misMatchPercentage": 

"18.59",

  "analysisTime": 1115

}
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Reference Test Diff Report

failed
{

  "isSameDimensions": 

false,



  

"dimensionDifference": 

{

    "width": 0,

    "height": -76

  },

  

"misMatchPercentage": 

"20.46",

  "analysisTime": 1634

}


